Bihar STET Zoology 2019 Shift 1 Question Paper
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fyvaror et T AT Tara
Pedagogy and Other Skills ( Q. Nos. 1 to 50 )
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® 18 @ a9
G~ 16 D) 4l

If '+' stands for multiplication, 'x' stands for division, '~ stands for addition and
'+' stands for subtraction, what wduld the following equation stand for ?

20-8x4:3+2=7?

\ ) 18 B

, | © 16 (D) 41

2. A A=26,SUN=27,d CAT=? -

.l () 24 | Bl 57
(C) 58 | ) 27

IfA =26, SUN = 27, then CAT = ?
A 24 . (B) 57
’ J © 58 | D) 27 |

@ afs fdl FC 91§ 'HEALING' 1 'BFIKHOJ' fet@n <en & @t 3%t e s o
BEDTIME' & fe W ferar smam 2
(A) EFCSJNF , | (B) EFCSFNJ
(C) EFCUFNS szﬁ = 4 i3
In a cerlain code 'HEALING' is written as 'BFIKHOJ'. How is 'BEDTIME' written

in that code ?
(A) EFCSJNF (B) EFCSFNJ

(C) EFCUFNS (D)  None of these
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9| g |162

11| 6 | 174

8 [13] ?
(A) 222 . B 268
(C) 246 ' | {P{ 54

Find the missing number from the given series ;

9 |8 |162

116 |[174

8 113 ?
(Ar 222 | (B) 268
(C) 246 : (D) 254

FAfefiad @Enal & 3y § ot a1 3 =T ?
9398_'7[9876b8765[587654{93765- |

A 3 | | B) 2
© 1- (D) 7 | HE R

What should come next in the following numbers series ?

9898798769876598765498765

-—

205

(A) 3 (B) 2

c 1 - - (D) Nonc of these
ﬁmﬁf@ﬂﬁﬁwﬁg@zﬁmﬂaﬁwﬁmmmﬁfmwm
1§ ?

() e B) URER

(C) & §UR HIEAH : (Bl/zaﬁ"émi’r

[ 406678 | Set-F
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Which of the following is considered as society’'s main resource for social

experimentation ?
(A)  School (B)  Family
(C)  Mass-media | (D)  All of these
7. Felian 8 4 e R 9 o S A S € 2
@ e ®) I

(¢ i @ e ae o) A E
Which of the following students need their teachers'’ attention ?
(A)  Intelligent (B) Introvert

(C) Slow learners (D)  All of these

®&r Wﬁﬁﬁﬁwﬁmmmm% ?
(A)  QTHITSTeh-37Tee STfeheId T TR
(B) f#ra{r%m’lﬁmﬁm@mﬁmw ‘
© e, geeRTE SR AR
(D) | 3T W SR IR SEvEshan
:Which of the following lays the foundation for curriculum ?

(A Socio-economic priorities and government

———
e

) (B) Psychological and rcligious bases of education
(C)  Philosophy, Sociology and Psychology

(D)  Study materials and social needs
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o faer A QA W amgfre wielt el 3T srpfclerl e ?

(A) < rj;mpi[ﬁ (B) N anfers

) Ay AR o) €@l franric

; ' o dote was Ve alist ?
Which of the following modern Indian educationisis was very much natur

(A)  J. Krishnamurti (B)  Sri Aurobindo

(C)  Rabindranath Tagore (D) gwami Vivekananda

o aciiferl w1 R’ S G % 0@
() TR B 9. Fw

y

) . Sen D) U, W&

The book 'Pedagogy of the Oppressed' is authored by

(A) Paulo Freire (B) J. Halak

(C)  J.Dclors (D) N. Bennett

@) R wemsl @ A 22 A I AW B AN 404 ¥, A I WG F PFHA

)51

Gl % L! B tvlf‘ ].;"‘
W
1\

A 24 ¥, B) 78

/uzj” 40 D) 80 .

If the sum of two numbers is 22 and the sum of their squares is 404, then the

=L

product of the numbers is

(A) 24 B 78

C): - 40 (D) 80
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12, s ey ) . . : .
% & 396 gy wfet el e @ & il Awen @0 e WIS 1y,

MR Y Sty T Tl w3 10% @) il el @0 g AT-a o 39 gy
AICRTET ) sy QERT

L{\l RN 7 B) 1% @I #H

€)% w Ey D) 8% oI @I

A Pérsnn sclls two machines at Rs. 396 cach. On the first machine he gaing
10% while on (he second muchlinc he loses 10%. What percentage of profit or
| loss did he make in this entire transaction ?
(A)  No loss m.) gain “ (B) 1% loss
(€) 1% profit | | (D) 8% profit
13. H%&Qﬁaﬁmaﬁ'@ 54 feimet /82 ! TWER W g W@ 21 fha wm o
) T% ©IZTHEM W T T 3TEH Y O HN 2
(A" 10 LTS (B) 25 H&HE
(C) 40 ¥&s ' (D) 50 Yehe
The 600 metre long train is running at a spcgd of 54 kmph. In how much time
will it cross a person standing on the platform ?
(A) 10 scc . (B) 25 sec
(C) 40 scc (D) 50 scc

14, UE oA ) HIEE 3T 18,000 B9 ¥ | A% Ik A H 30% B gfg wxe &t 3
T w3 Y 2 |

A) 22400 By 23,400 T
S ﬁi 24,400 35 (D) 7 U HIE TS
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16.

17

205

The monthly income of a person jg Rs. 18,000 If his income ia increased by

30%, then what is his monthly income now ?

(A)  Rs. 22,400 (B)  Rs. 23,400

(€)  Rs. 24,400 (D) None of these

TR A fon Tematl &1 sl 53 21 wad o) s e &

() 35 ¥ = (B 45

(C) 55 (D) 57

The average of nine consccutive odd numbers is 53. The least odd number is
(A) 35 (B) 45

© 85 | O 57

gfg #ATT qmﬁwqmmgm%,aﬁuﬁwaww% ?

yr 4-17% B)  427%
©  372% D)  892%

Il the cost price is 96% ol -the sclling price, then what is the profit per cent ?
(A) 4:17% : (B) 4:27%
(C) 3:72% , (D) 8-92%

mﬁwwm@m$m4wmm%mmmm
%W1m@éﬂ%mﬁ%mﬂ7sﬁmmiﬁmsmzﬁaﬁm%

ﬁ,w%mﬁﬁmmﬁqmmﬁaﬁm% )/l / @//
:; <~

B) 40 4 .

(A) 35 (B) oﬁ 2

(C) 36 : })/42 ,)\

$7

-------- ssera) ..6 . ”L{(Zl I"""“..T'““";.é‘
(406678 ] Set-F 4%, / )-o s'r-zs(n) 4% i /

)rt{ ¢
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18.

19.

20.

In an eXamination, a student scores 4 marks for every correct answer ang Iosq

I mark for cvery wrong answer- If he attempts all 75 questions and secy;

125 marks, the number of questions he attempts correctly 1s

(Al 35 (B) 40

(C) 36 (D) 42

67 3R 101 % drg firy Gt # GETE
(B) 24

D) 29

Number of composite numbers lying between 67 and 101 1s
(A) 27 (B) 24
(D) 29

(C) 25

<} dEre @ RS 120 ¥ R T A 1 AT 289 ¥ < weAret i an g
| 22 o\*"bﬁiy,y-zﬁ
1’1/)_% .

(A) 21

) 23 o P}/ 24

duct of two numbers is 120 and the sum of their squares is 289. The

The pro
sum ol the two numbers is
A 21 B 22
©) 23 (D) 24 _
fegerer @ 41 @

afz 40 el 1 foRaed 50 TR F FALET & TR & -,

g
(B)  25% &I

(D)  20% &4
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22.

205

Il the selling price of 40 articles s equal to the cost price of 50 articles, the loss

or gain per cent is

(A 25% gain (B)  25% loss
(C) 20% gain (D)  20% loss
R feT & aravdifgeor & @ o ¥ 2

A T3 T & wf a=at w e

B)  ad erefral w1 foen

(© 9+ = B e vd avfer e

PY 6 va e 3 v o e e i

Whalt is the meaning of Universalisation of elementary education ?

(A) Education for all children from backward classes

(B) Edl:lcationlto all girls children

(C)  Frec and compulsbry.cducalion to all children

(D) F;rcc and compulsory ecducation to the children of 6 - 14 years age
Wwﬁ%mwwmmﬁaﬁﬁméﬁﬁa‘ﬂﬁﬁaﬁaﬁaﬁaﬁ
(A1-Iﬂm§mﬂmn' (B)  TRIERR S

() BRI @/WWW

The first cnmmitlcé to be c;mstituted after indcpendcn;:c by the Government of
India on women's education was

(A) Radhakrishnan Commission (B)  Mudaliar Commission

(C). Kothari Commission

...................................................

. ".‘.-"!
i 5
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23.  FGU TN T [=endar Fm FEegedl ol o

(A) S FETT = (B) NS RRSW F
(C)  =OT YT Sy m 8§ In

Students with heanng impairment require

: (A} Language training (B}  Auditory training
(C)  Speech training (D) all of these
J 2. TR JFaOUS T oiwe (a3 § s TR TR $ 99§59 )
(A) 1983 (B} 1995
(Cr 199 ' (D) 1997

When was Nadonal Council for Teacher Education (NCTE) established by an Ax

of the Parliament ?

(A} 1943 (B) 1993
(C) 1996 D) 1997
25. 5 3 ¥ inwr ¥ oh-wr dans winhes

-~ Mo w
¢id SRT & 2

A g S B) TR GO
Q) T N H B I WS

Educaton does not include which of the £ : -
$ notinclude which of the tollowing resources 2

(A) Financial resources (B) Human resources
(C) Matenal resources (D) Water resources
LN R RS N RS — B3

o
". &) TS B ¥R Yuw

l. c \ . §
’ (C) W oy 3w
‘-_ ................ advocated Human Rel

Atons approach in education
(A)  Elton Mayvo R
(B8 Henry Favol

(D

Davis
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27.

29.

mewwmg

(A)  ATHERA ST ® TR HY WA S

() fk’mﬁ?ﬁmmm (D)  SRISTIRI X AT

The mid-day meal Programme is initiated with a main view to

(A} increase enrolment (B)  involve community
(C)  engage teachers (D)  solve unemployment
REREDRR R

@) BH % fog % fow

(B)  ferrer fasbra & ferg .

(C) BE =i foue™ Sied ¥ A & few
(D)  THIF i HT R FH % ferw
Eo-curriondar activities aE't6

A faciitate pupils’ development

(B) providc a progressive school

(C) - | keep pupils from dropping out

(D). meet the demands of the community

e fargetsoT fpar ma

L T TSR FNI B R SR

() FEREH EW - o) famve wEe g

Psychoanalysis, is done by

(A)  Alfred Adler (B) Carl Jung

(C) Einstein (D) Sigmund Freud

205
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30.

33;

hﬁﬁ%ﬁmmﬁaﬁwwm%?
A) gy (y w9 feat

gfem

C  S=Ray (D)
Who said education follows social change ?
(A)  Ottaway (B)  John Dewey
(C)  Johnson | (D)  Durkheim

Z"ﬁuﬁm}aﬁtsmwwe?ﬁm%’,aﬁzlﬁeﬁ? 14%3?1351:1@@

-

BT 7 12 T+ 8C — {76

mf roc =7
(A) 1,283 771 ' (B) 1,887 &9dl ,
(C) 1,183 F9= u);/ ZH 9 HI3 el

If the price of 12 chairs and 8 tables is Rs. 676, then what is the price of
21 chairs and 14 tables ?

(A)  Rs. 1,283 (B) Rs. 1,887
(C) Rs. 1,183 (D) None of these
264 FT 60% T & o A5

/a°

/A) 448 hT 22% (B) 544 & 17%

(C) 180 %I 55% (D) T 9 FE
60% of 264 is the same as
(A)  22%of448 ' (B)  17% of 544
(C)  55% of 180 (D) none of these

100 @@ 1 e (e arara et ¥ -

(A) 2] (B) 23
Fd
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34.

36.

| 205
The number of total prime numbers up to 100 is
Ay 21 B 23
(C) 25 (D) 26
3] Te-FE FEHHA W PEES 117 5, @ 0 g0 gauad §
(A) 39 (B) 119
‘/ -
C 117 D) FTHE =g el
Product of two co-prime numbers is 117, then their LCM is
(A) 39 B) 119
(C) 117 (D) none of these
s |2.'; Gk
U& WA 3194 UiHd 90T § 20 3R & | HE© 7{%,*
. oy
Ay 75 B) S0 & S
; i 3 2
1 o3 D) 40 o i

A number exceeds its onc-fifth by 20. The number is
(A 75 (B) 50
(C) 25 (D) 40

SegaR T e % AR o R ® 1@ 9§ foe e ee e ged e
7} Frefeiad o ¥ SH-91 ST o 3G e 2

5% STl (B) WEHR
(C) W D) .38 ¥ H2 7

For conducting a large survey to know the opinion of teachers regarding Higher

Sccondary Education, which tool will be most appropriate ?

(A)  Questionnaire - (B) Interview

(C) Obsecrvation (D)

None of these

13 / 48
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37.

38.

T v 3 g 3 e weife @ A €

A) Vs 7

(B) o fowas w1 o A A A
©) T = st w1 e SR
(D) 39 | wE @0

Educational pS}'cholog)' as a subject implies

(A)  Educational knowledge

(B)  Knowledge of education applied to psychology

(C)  Intcgration of knowledge of psychology to education
(D)  None of these

i 3 9 R v e W & w0 3 e @ e W E
w5, T, R sz 1 R

(B) efires wene &g Fivew e

(C) | fohrg %q T fadeE

D) T s % P g et e

- Which of the following functions is not related to school as an agency of

education ?

(A) Preserving knowledge, values, custams etc.

(B)  Giving definite solutions to the religious problems

(€) Suggesting ways and means to social development

(D) Socializing children for performing their future role

..................................................
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40.

4].

20.5
el % T9F T SH-71 gy T & AR & wer | 'iiiciaml FATTT ?
/l\\) ERIEECIG (B) AR
Egr” SHiEr o) T FE

Which school of Philosophy in education will pleéd affinity with Darwin's theory

of evolution ?

(A)  Pragmatism (B)  Idealism
(C)  Naturalism (D)  None of these

ﬂﬁqwnﬁnﬁamaﬁaﬁams-maﬂmm—rﬂmv
HifoTh ATYFR § 2

(A BT 45 (B ¥R 42
Q- ITHT] 21(A) (D) =T 51(B)

Which of the follo“fing. Articles of the Constitution of India lays down that

cducation of children aged 6 - 14 years is a Fundamental Right ?

(A) Article 45 (B) Article 42
(C) Article 21(A) (D) Article 51(B)
mmwg@ﬁamaﬂwa’m 87 ¢ 311 W T4 Bl & €
24t 7?2 ’;’Ls qq'{?) \

A/ 27 S (B) 23 ‘)/3 X 5 02
z : ot ;,- 26 : 3 1

. qQ % /]
) 29 | D) 31 Y 1o

The sum of three consecutive odd natural numbers is 87. The smallest of these

numbcrs is
(A) T - (B) 23

€ 29 (D) 31
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, A | 9

2. TR s = 10 faelt w6 el § 6 H WA FH FE T wwm g,
Wg@mmlﬁmﬁﬁmﬁﬁﬁﬁwmg )

);\{ 3 fey B) 4f
© sfm D) TR

Ay

S men can prepare 10 toys in 6 days working 6 hours a day. Then in hiois n
; : any
days can 12 men prepare 16 toys working 8 hours a day ?

(A) 3 days (B) 4 days
(C) 5 days (D)  None of these
43, TE 1 9 vt o) dem wm ¥ B 4, 6, 8, 12 #HR 16@%&111’2?[3@—:;“%2
AR ?
(A) 46 48
/[01/ S0 52

The smallest number Wthh i divided by 4, 6 8, 12 and 16, leaving th
e

remainder 2, is

A) 46 B) 48
(C) 50 (D) 52
{ 44. wwwsg%ﬁﬁiﬁ%mﬁmmzs%ﬁrasﬁmﬁmm
B FR R sirad o
- Ja ( 19-23 T}/
r s : gy ;
) y i }y (B) 32 fwrd} /ey
| &) s (C) 48 ‘"ﬁq“r/ﬁ‘a
’ - (D) 51-5 f&di /ey
Vv A car travels first 39 |
e m distance in 45 minutes while next 25 km distance in
ﬁ , 35 minutcs. What is average speed of the car ?
' | (A) 19:23 km/hour

(C) 48 km/hour
D) 515 km/hour

..........

Scanned by CamScanner


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

Y
205
15, TS AT SR & AT A 200 iy §, e e B A Q91 Ao @ sl
A 25% 3L
( 93) 33 3
) - 2 (\]
lL.} 103 ‘o (D] 20%
Radha’s salary is 20% less than Salma's salary. Then Salma's salary is more !
than Radha'’s salary by
A)  25% B 333%
€  165% (D) 20%

'

46, A IR BEEH §) Ram sw%mwéﬁRﬁW%l B S ¥ = g € ?

=

| J”hm B &
M

(C) A (D) S

A and B are sisters. R and S are brothers. Daughter of A is sister of R. What is

relation of Bto S?

(A) Mother ' (B)  Grandmother

(C)  Sister ; ()/ Aunt
47. 919 ¥R 'BD', 'EG' ssaﬁmm MO, 'PR' ¥, 9 3 YR ‘FH' fvad defud & 2
Té
(A) JH | B) IL

(€ JL (/D)/ IK

As 'BD' is related to 'EG' and 'MO' is related to 'PR', in the same way 'FH' is

related to whom ?

A)  Ji B) IL
€ JL D) K
48. T ST F W A W 6 o SR W W 28 d T W §| T F FoA b OF € 2
A) 28 l B
‘( ) y (B) 32
(C) 34 /f - pr 33
[ 4066:78.]..;.;;:1." ........... S é'r-zs(ll) e ........-...............--..m........u..........nui-’;--}---‘;g-

Scanned by CamScanner


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

205

49,

50.

[ 406678 ] Set-F

Maya ranks 6th from the bottom and 2
students are there in the class ?

(A) 28 B) 32

(Ci 34 D) 33
A Fog e Pt f ) e 9 A I P
T TN : : Thed ¢ ?

| g v
freem

(A) cra
(C) ﬁ%mm (D)

Find the related word from the given alternatives : _

Book : Publisher : : Movie : ?

(A)  Writer (B) Editor

(C) ' Director (D) Producer

?ﬁ%ﬁqmmﬁ,ﬁﬂ?m@@aﬁwwwﬁ:

121, ?, 169, 196, 225

(A) 132 ' (B) 151
(C) 136 . _ 9» 144

8th from the top in her class. How map
, Y

51

In the following question select the missing number from the given series :

121,72, 169, 196, 225

(c) 136 (D) 144

-----------------------------

------------------------------

ST-25(11)

P

ERTYE:
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T TR
| ZOOLOGY )

[!IO‘Gi'o 51 -150)

51 T-TI:‘T t‘r T{ Ch[:i‘-ﬂT i -31-11_ ?.' 7

-~

() TEmE

(C) H3

(DY
,/

-
———

=S

Which of the following organisms is regarded immortal 2

(A) Paramoecium (B)

(C) Tclrtoise (D)
52. BRSl H WY

(A) I (B)

(C) TR & fow =& (D)

Tentacles of Hydra are

(A)  Solid (B)

(C) Not for protection (D)
53,  Wwtaten feddter W ¢

(A) Iﬁw & o et A (B)

(€) T % g | (D)

Fasctola hepatica occurs in

(A) Bile duct of Man (B)

(C)  Liver of Man (D)

| 406678 | Set-F

T —

Volvex

Amoeba

Eight

All of these

W§ ¥ uFa N

W ¥

Liver of Sheep

None of these

ST-25(11)

19/ A8
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54,

56.

57.

m(m)mmw%

| 406678 | Set-F

(A TR o (B) A A

(© sy G (D T A HiE T
Silk is obtaineg from

(A Laccifer lacica (B) Nqsema bombycis
(€} Bombyx mori (D)  None of these
Ay faa—{rfr Gelt gl dF 8l g3 |
( e ( e ) B) i ( Ewfetar )
© s (D) e (& )
Which onc of the following has an open circulatory system ?

(N Periplaneta (B)  Hirudinaria

(C)  Octopus (D)  Pheretima
TS A T AR B ¥ |

(A) @O H B) FTH

© = (D) Hew ¥

Nucleated RBCs occur in |

(A)  Rabbit (B) Rat

© Man D)  Frog

AT @ 3ae §

(A)  RSTRRR (B) TETRR

Gy SRR (D) EITESFER

Brain originates from

(A)  Ectoderm (B)  Mesoderm

(C)  Endoderm (/P)’ Ectomesoderm

s'rzsup

20/43
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(A) T A T (B) FeHE JEAH
(C) FTFRTHGERI g §

Bowman's glands are found in

)} TIOT IGHeN H

\B

(A) External auditory canal (B)  Cortical nephrons

(€)  Juxtamedullary nephrons (D)  Olfactory epithelium ‘
59. I R N o g &

(A) - (B S SR ;

© 3 D) I=F

Mammalian Placenta is formed from

(A)  Yolk sac (B)  Chorion allantois
(C)  Chorion : .(D] Ampiion
@/ @Y A § 1
(A) 2023/1023 (B) 2033/1032
() 2033;/ 1023 (D)  2033/1033
Dental Formula of rabbi’t is
(A) 2023'/ 1023 (B) 2033/1032 \4
: (C) 2033/1023 (D) 2033/1033 H|
1) s = st w ¢ |
(A) ST HeheeleE o (B) Sito o Hreet A
(C) Tdo Sito GIHT ¥ | (Db o Tho HATA & lj
Discovery of Transposons is related with . Jl
(A) . Barbara McClintock (B) G. J. Mendel . 4
(C) H. G. Khurana (D) T.H. Morgan
.................................................... Mt la
/|
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62. Yl T U Hiel ¢ | ~
W e B fE e
© T (D) T FE
Researcher himself is a source of
(A) Primary (B) Secondary
(C) “Tertiary (D)  None of these
6 g  sve < wn i & &
(;\_,-" 5 (B) 10
(é) 11 (D) 12
Number of sﬁbunits in a microtubule is
w o2 B) 10
) 11 (D) 12 :
64, TNl g3T1 FRR FH & 2 4
(A) e ‘ B) dh-Toae®
o R | 0 S
Which one is a learnt behaviour ?
(A)  Reflex ' (B) Reasoning
(C) Tropism . ) (D) Taxis
o5, ST @ Fe faf s
(A)  TTH-HFTCE S S . (B)  UH-RUTCHS S
(C) fehefaar = . () @’q;—;ﬂ &1
Protcoglyéans are méjor cell wall components in
(A)  Gram-positive bacteria (B) Gram-negative bacteria
(€ Rickettsia (D)  Helminthes
1406673]SetF ------------- s;i'-zs(lx) U ST 2 2/ =
i
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67

g AT T st

(A) STl YA &t

) AT @

Blastema [ormation is a part of
(A)  degeneration

(C)  osmoregulation

THAT 377 e B &
(A) ursfﬁﬁaqa
(C)  HeIRHH

(B

(D)

(B)

(D)

(B)

(D)

Which is amino acid derived hormone ?

(A) Thyroxine

(&) Melatonin

hiealgare o

(A)  1-BTEgRRTeReRI o]
(C)  25-FTEgIRl eihedIh e

Calcitriol is

(A)  1-hydroxy cholecalciferol

(C)  25-hydroxy cholccalciferol

69. @ffTeRY & IFcHId BT ©
) e
(©) AW
Taxonomy includes
N S—

®)
B)
(B)

(}]

(B)

(D)

(B)

A

205

QST &
7 © B3 el

regeneration

none of these

TqAHE
= q gl

Epinephrine

All of these

24-@@6@ HIeTheHh e
1, 25-2REEEgERl HerhedIhe

24-hydroxy cholecalciferol

1, 25-dihydroxy chlolecaliferol
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70, URlmE v iy fan

ugdy SR I

(A)  IreHSeR yeifiir gRT By
(C) 39 =R 1@ (D) WENT AT §R
The term antibiotic was coined by
(A)  Alexander Fleming (B)  Edward .Jenner
(C) Louis Pasteur - (D)  Selman Waksman
71 FE A o enfew ww d 2
@) sk

(A) iR
(C) @R D)

Which of the following is the aénclumatc phylum ?
(I3) Cnidaria

gl 4 adl

(A) Porifera
(D) All of these

(C) Platyhelminthes
72.  3MRIHCE &
(a)  dferarsets - B)  enuAfEe Hierd

(©) RZIarg D) fatkems

Archimollusca is a
(B) Hypothetical mollusc

(A) Pclecypod
(C) (GGastropod (D) Cephalopod

£ 1 i TeiTele HigrteT TRl E 2
(A) . ORTHIRER (B) T
) fedaram (D) feremferan

Which of the following is not a flagellate protozoan ?

73.-

(A) Paramoécium (B) Juglena
(C) Trypanosoma (D) Leishmania
" sT-25(11)| 24 [ 48

l";;gg'm | Set-F
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74.

RIS Al H T €

g T

S

() TR/
Dipleurula larva is associated with
(A) Echinoderms

(C) Molluscs

(5) Tt @i g & 2

76.

.

(A) @™

r

(C) =

¥

D)

(B)

(D)

Bl

(D)

Which one of the following is catadromous ?

(A)  Lamprey
(C) .Eel
forT gy Uil S B -

9’ -

() SwEmH

Venous heart is found in

(A) Mammals

(C)  Amphibians

TS I T

() SRAEIEE Herwed % ARH
() =~ HiEIEE HeEed & AR
Tetrapod onginated during

(A)  Proterozoic era

(C)  Mecsozoic cra

(B)

(D)

(B)

(D)

(B)

(D)

(B)

(D)

(B)

205

FrheATSed |
wifered @

Cephalochordates

Annelids

T
vt T

Rohu

Flatfish

Wy §

oo o

Reptiles

Fishés

AfeTaisiise TeThed & AT
3HI (B) T (C)

Palaeozoic cra

Both (B) and (C)
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78.

-

79,

80

i

TR Ud W A, g @ 39N S A4 9rEr e §

@A) Frg o B) GEEH

©  Fww g D) A=

Flat and broad beak with lateral straining devices is found in

(A).  Vulture (B) Penguin

(€)  Duck (D)  Parrot

(A) A ITEREN & (B), IR =y =

(€ Rl et & D) W TR S
[ERE-laying mammals are the natives of

(A) Indian subcontinent (B)  Australian region

(C) African continent (D) South American region

Co, & ol s ) Ak W wiifea @ 0, s s & o S S

-

R

Ao .
lf\} p\‘\e*'! \3‘"'1 ““ &: Ay S
() SN (O iN?‘fi‘.:ES s

e

RI‘I" h' ‘t‘\‘ l‘nl“ \\l ‘.‘\\ l‘ : \!‘ss“\“\'“l\“\ Cuve ‘2‘ l\‘S',\‘!\th.‘ o an L:.,\:’;\\as;: \:‘ .\\

CO L partial pressate ix called

(\) Haldane eftiset (1) Root effact
() Hohe el (1 Chionde sha

A\

e gt A Raalhen O eed ol o R @

© Rl e D) Sesew

Which vne of the Raltowing has the lagest population in a fod-chain >

(\) Pradueer (2 Pramany consumes

l\\! Davamposer

1 Sl s R L R ——
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{2

*

bR o

S i .
B W R T W @ i wy o walk e

N S .;_‘:
3 e B 2

N B
T DO i 2ared v e daves

Vol
&
;.r
/4
7
i
Y

» TORCTRTNT M 1

) -~ ~
T i =
T ™ Se. IEY e
~
“\'
X = e =
=

© == -

L3 spen of Nae-@Xv s

-{n oo -ﬁ&:\ 1‘::}1

< one hour )

ST sTEest

A =G N = B).
3

j:g A T @® = = D)
The o2ll wall is present in
l—i] Animal celli B

(? Both ( A) and (B) D)

Je

g RNAN
Q\"E {E “{\'

Taral Aeat Of A CIZAINm TepITsents s

t.“‘\‘d. ta )

i‘-\ \-‘:\ :\ b

\v—u—- - '*-I‘

Y R AR
\‘une ab b p 4]

one Year

v\uw

e . %

- -~
> ba | G 543 'Y;;

Plant cell

None of these
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——
——
———
| —
|
- = "‘_""T—-‘—-- —
N -
3 — TR = ag g X
" e
- s TR ~ LR o S S
_"h - -
| - = Sl e s al -
- A izneces vooks S Nalimenten sada
l (o isiamomtus racts » NARe e
| . N .
< 1§ TITEETYT, T Ih e o
} e | e L _..:..;' Al f“‘ -~ -y
2 : = SO B A
(™ “.E—‘:—_- ) aadh W )
’ 3 = oo I S = e
=132 WATIRINEG 1% Saused
A AT pallation i3 NWEsae AN
2 - s j\“‘u'tl".‘\"l'.
~ ™ h | B& x
(L) SFEDO DGO ) 4
[ PSS PSR e By b T .\»\\?‘.‘\\ O UoNe
o s
7. i T SR B
- - ~ o
(29 5,,_..,1\':'-..."“""—" b ' ’i R
‘J . =~ ey -~ — ke - - . - ‘ ‘
} = t\q LRI § S O

) = .‘:-_-_.:_.-_'l._.. A e -k B y . ;
(C) TEIEE WUR EE G O Renda gt 2t ad @

Night blindness 1s caused due to the deficiency of

(C) Vitamin C (D) Vitamin D

L T T T PPy "
—— : i L N T T ST TS T IIT I T

ST-25(11) T

' (A) Vitamin A (13) Vitamin 1}
"
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5 WE’W%

y) MEQLCES] & SR (B)
(©) afgsi & QA (D)
Gametogenesis is formed during
(A) Spermatogenesis (B)
(C) Oogenesis (D)
89. wvﬁqwm@m@ﬁfwmw
() S o e T (B)
) RIS e e A

"One genc one enzyme" hypot

(A) Jacob & Monod (B)
() Garrod and Jenscn (D)
0o i e g fre @

(A) AR S % fere (B)
(), A = & e (D)
Nandan Kanan Zoo is known for the

(A) Nilgiri Tiger (B)
(C)  White Tiger (D)

i ——

W%eﬁm
g}ﬁ(ﬂﬂ*ﬁm

Gamctogene sis

Embryogenesis

hesis was proposcd by

~Watson and Crick

Beadle and Tatum

ey & o
el & feu

Hippopotamus

Whale
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205
gfrm Bt X o = aa el o A
a) TR =ty & T J{ENE 9% gREeH &9 8
(A)  gF d B TFAS
~ =TTy g . "":"""'C"::? :‘:
(C) AN g (D) HNEWE

The Omithine cvcele for urca formation operates in the

(A Kidneys (B)

laver
(€) Pancreas D) Ovary
V2 Wi g
(A WA wiforgrad o B) e wivened o
€)1 wiferama D P e
Steroidogenesis takes place in
(A) Scertoli colls (13) Levdig cells
(C) Germ celly (D) none of these
9. flaaainan s SR

(A sl wre wier shag aor M) TW U SN e ey a

YO
(€~ R e iy M) T A W)
o |

The symptom of sickle-cell anemia is

(A) inadequate healthy RUCy M) rigid and sticky RI3Cs

(C) slckle ahaped Ry (D) all vl Mhese
G0 3 R

(A) it A e (1) ﬁ‘ﬂa\t‘l'ehl‘r»m
() A e D) &1 A i % fey

Cra M O i appticalye 1

m; . MnHmt_f-_ __ e i\ e
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15 qmaaj 3
(A) 9 ISR
(©)  WEH 3y
Enzymes are
(A) Eiocatalysts
(C) | Protéin Iﬂolecules

g6, TR &9 F, e wifersr g &
L A
(€) TR
Physiologically induced cell death is
(A) Necrosis
(@) Osmosis

g7, RYYT I ITIAH HI §
(A) DT
(C)  WHE
Highest category of taxonomy is called

(i\j Family
(C)  Division

98,  STITIER ST AT ARETH &
(A) I S
(€) SeaREcH
Sudden inheritable genctic change is
(A) Natural selection
(C) Mutation

N

(B)

(D)

(B)

(D).
~

(B)~

(D)

(B)

(D)

(B)

o)

(B)

(B)

(D)

(B)

(D)

R o
0 9 9

Substrate-specific

All of these

Thetdd
.« R I

Haemolysis

Apoptosis

I

TURTS

Species

Kingdom

ICREG
7 @

Variation

All of these
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99,

100.

101.

102.

sttt it faforr imitferas & F e e € 103.
(A ferente wfg B) FEETE A
(C) SRl g (D)  ETHTE S
The species inhabiting different gcographi'cal areas is
(A) Allopatric specics (B)  Sympatric species
(C)  Polytypic species - (D)  Sibling species
@& wed B e
€  HEA TRsiEs @ D) ORI & 1ok
Minamgta discasc is caused by
(A) ' Lecad (B) Arsenic
© co, (D)  Mercury
(A) e e o] SITAT
(C)  hEel IIRTAT (DY W wd SiuAT / sRuAY
A virus is madc up of |
(A) Protein only (B)  DNA only 108
(C) RNA only (D) Protein and DNA/RNA
(A)  @RcoerE o e B) TREETR % fa j
9/ g Tehifvgal & feom P hegeh o fer
' Nln-livmg cellis knowﬁ to be without
(A) Chloroplasts (B) Ribosomes
(C) Mitochondria B (D)  Nucleus |.1
....... 32/43
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103. &R I & sy & -
(AN) Tto T-]%‘Saﬁ
_ | EL ARAA IR FAT J
©  HU=w e -
(D) ¥ H Hig Tl \
Who is the father ~¢
€ lather of Green Revolution ?
A)  P. M .
aheshwari (B) Norman Earnest Borlaug
c M
' (€) endel (D) None of them.
104, [ ?ﬁa%ﬁ?ﬂamgﬁmwaﬁ%
= A - eore
(A) | (B)  Sicgd
€) ST ; | (% miEltecal
Evolutionary history of an organism is known as
(A) Ontogcny ' (B) Phylogeny
|
(C) . Ancestry. {D) Palaeontology ‘
105. =R &39I §
(A) TGO R (B) - el =
v(C)  HFE . @ T et &
The neurogenic heart is the characteristic feature of
(A)  rabbit B)  rat | | 4
(D)  lower vertebrate
......................................................................................................................................................................................... 1
ST-25(II) 33 /48 M
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106, T § Srgl w1 i e T P @
(A) HYUe g (B) WWW
(©) g & Y AER g (D) RM (A) TH(B) BT

~ The ventilation movement of the lungs in mammals are governed by

y/ diaphragm (B)  coastal muscles

(C)  muscular walls of lungs (D)  both (A) and (B)
107, Shedivge sufer fored o st & 2

(A) /=T of 4 ) g

(€)  &eaER i . (D) uEet d

Calcified cartilage is present in

(A)  cxternal car o (B)  supra-scapula
(C)  pericardium (D) ribs

108, R w1 ¥
(A)  EhifedEH N 9/ .ﬂg
(€ wgA (O) S

Indian carp is
(A)  Scoliodon (B) Labco

(©) Torpedo fish _ (D)  Pristis
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9. FRH W [y wn
D SNYH Oy %._';:_ :
i Al ;:‘:“ BT o~
AR e !
(B) Sl §a¢ T
C) ‘.':\1_.'1: T e
' ViR il
(D) B ¥R UF 9l
Maxim m
SR amouny of humuys _
US occurs m
| \! =W
OWermost laver i
4 (B) Upper laver
(= Middle wer
: (D) Same everywhere
10, Fo TFe To o = b
H KT B
A TReREEs - cox e
/ s (B) FaT TiKI(sA
(C) TS RS e . S & ;
A = (D) IS4 T4 AEAF
CFC stands for
Al Chloroflu ~ . :
‘ torofluorocarbon (Bl Chemical Fluorocarbon
1, ™ . 3 Y N a .
(C) Compressed Fluoroine Carbon (D) Carbon Fluorine Carbon
Nl =SS aW R
(A) THRE S (B) T H
) FEWEH (D) TS=aRI el ¥
/
Human fertilization takes place in
(A} Uterus (B)  Vagina
(C}  Ovan (D)  Fallopian tube
_.-_n:.:.-""‘—-—_.___.
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N2, ST R W ) Ry &

115.
N ST A (B) TT R TH EN
€ 3 uw - A g D) g g 2 TH gW
\ A mcthod of birth control is
. f'
| (&) GIFT (B) HIF
(C)  IVF-ET ' (D) 1UDS i
V13, &1 T shiRTeriad st 7 ot e
(N fcwan sma ) safefy @ (B) URREY I Y sufefy @
" = (C) i w5 sufefy § O W H seRefr §
‘ The colour of RBC is red due to the presence of
(A) Calcium ion (B)  Potassium ion
(C)  Ferric ion | (D) All of these
114, 30 H BE-a1 el @ am@ s i o ;
l A e (B) i <
lr-" o T D) oot @
r\ Which Vitamin is not found in milk ?
'“ (A)  Vitamin A (B)  Vitamin B
)
i (C)  Vitamin C (D)  Vitamin D
3 " ST-25(1)| 36 7 48
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. UEEHRE y o

116.

117.

(A) R H

(cr =i §

Ascaris is most commonly found in
(A) Men

(C) Children

gy 981 URiEfas &5 & |

(A) o gk R GE]

[l T )

(©). drendg ki d

The largest ecosystem is

(A  Forcst ccosystem
(C) Pond ccosystem
(€ T uEd f

Dudhwa National Park is located in

(A) Himachal Pradesh
(B) Uttar Pradcsh '

(C)  Madhya Pradesh

Pradesh :

(B)

(D)

(B)

(D)

@.

(D)

(B)

(D)

(B)

(D)

3HT (A) T (B)H

Both (A) and (B)

IR TR H

3GV W9 |

205

e o feafas T
grdtg gt o

Marine ecosystem

Grassland ecosystem

37 / 48
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118, &R UF YR &
A T o &
B)  ImEfES Y &
(©) i ud el & fames | I BT €
Wy () wEE

Manure is

(A) an organic substance

(B)  achemical substance
(C)  obtained from decomposition of plants and animals

(D)  both (A) & (C) are correct
119. a7 Iufsd el =6 gomia & fagm fear mar

(A)  HUSH RI (B) oo gRT
(C) T gRI : D) AT gRT
Thecory of acquired characters in living being- are given by
(A) Mendel ' (B) Darwin
(C) Lamarck (D) - Linneaus
120, F s o fort g B ¥ 2
- (A) 24 (B) 14

ﬁ) 22 | 9/8

How many bones are there in human skull ?

(A) 24 B) 14
_ IC) 22 - - (D) 8
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208

" S 5 gt s i
(B)  WERkw e
D)  WeEd Cco-A

at connects glycolysis to Krebs' cycle ia
(B)  Citric acid

(C)  Pyruvic acid (D)  Acetyl Co-A

) T S 3 v 3 oy ey 4 i Bt

e o o
G S S : B L

Which of the following is responsible for inhibition in enzymatic reactions ?

(A) Substrate (B) Enzyme

(C)  End product . (D)  Temperature
by i

() TE TR | B T

() U4 =t A (D) @ TS

Pace-maker is | |

(AL SA node (B) AV node

) (D) VA node

- (C) SV node
124, TrEEllS g @
o) e e F EH

Diabetes is due to

(B gRAM & el
(D) SIS @l wH

(A) Naion dcficicncy (B) Hormone deficiency

(D)  lodine deficiency

irn TN i -~ :-lnﬁr'if‘_nCV

Scanned by CamScanner


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

A —

P

127

---------

SRS §
(A)  OieldERE (B WA
(Q =W | (D) SRR

Insulin is a
(A) Polysaccharide (B)  Protein

(C)  ¥at. ' (D)  Carbohydrate

HRUG THEIEH & gRT WA 61 S 8l &

() TH TE T g (B) U I BN
(C) CRIERHE R

(D) oA g
Sccretion of progesterone by corpus luteum is initiated b}}
(A)  MSH. ' ' (B) LH

(C) Testosierone (D) 'I‘hy_roxiné

mﬂmwﬁﬁmwvﬁqmm%
(A) SHART B) Tvams
) G D) T E WA

[n operon concept, regulator gene function as

(A) rcprcssor . ~(B) regulator
(C) inhibitor _ (D)  all of these
e Set-F_ , ST-25(11)

40 | 48
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129.

130.

131.

C ATG ATG ATG
/pef CAT GAT GAT G

128 ‘Tﬁ*'Df\lﬂﬂﬂwATGATGATGaWWﬁ@m&HﬁHﬁmW.ﬁT

(A)

(B) CATGATGA TG

(D) @mmﬁaé'—r

Il the DNA codong are ATG ATG ATG and a cytosine base is inserted at the

beginning then which of the following will result ?

(A) C ATG ATG ATG

(B) CATGA TGA TG
(€)  CAT GAT GAT G (D)  anon-sense mutation
S e B &
@)y T (B) HREERITGAT
(C)  dREwEy (D}~ e wEa - -
The proteins are synthesised at
(A)  ribosomes - (B) mitochondria
(C)  Centrosomes D golgi bodies |
et T 1 @ foret wfm % 2
(A)  FIREEA B) Seawea
(o TR D) TS
Cristae are associated with which of the following ?
(A)  Cytoplasm | (B) Protoplasm
(C) Mitochondria (D)  Ribosomes
INEI o1 AhR T AHHOL e 7
(A) T gRT (B) THH &I
(€) = AN g D TR ER
Mutation was discovered and named by |
(A)  Darwin (B) Lamarck )
(C)  De Vries (D)  Muller
....................... 3'1".25([1) e :48
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192, SR ( wide ) g v ain &
’ @A) = (B)  vIo=h
. € M (D) U¥Y U
Which is the vestigeal organ of Python ?
' .- (A) Nose (B)  Scales
J . (C)  Tecth (D)  Hind limbs
| 133.  ¥lifot ferrer o ey P focr
“ ; (A) I IRR gR (B)  &el R
: € SfaFaERr (D) AT G
. Basic principles of embryonic development were stated by
, (A)  Von Baer (B)  Hackel
’ (C)  Darwin (D) Weismann
| % 134. hTE-THATER IRV T FEIIT Tohar S
N a)  w®E A (B WM fomer & fog
i (C) TETH 3% wie & fog (D) T W
o Chi-square test is applied for |
r’_’ (A)  Student t-test (B)  standard deviation
' (€)  goodness of it | (D)  none of these
J 135. Yol quichRan! foger aier & |
"* o) o aer (B)  SedieH! 3y 7
rj’ 1 ; ) remtiea e o 9 STgUIdent 3ver §
‘f,_f |

g - Complete holoblastic cleavage occurs in
(A)  Alccithal cgg (B)  Megalecithal egg

|
' I (C) TclolCCitha-l cgg | (D) Microlecithal egg

...................

| (1 a2 / 48
r |
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136, HIETTEAA o Tramafen aml oy fegtor =ttt @
(A) fasea ser (B) Q’ﬁ@q

€) YgHE : (D) YIRI] T A MM

Fertilizin is a chemical substance produced from

(A) fnature eggs (B) aerosome

(C)  polar bodies ' (D)  middle piece of sperm
137. & H At (AT ) Y I B €

(A EReA R B) €A T

© Vew wEw Oy e S

Which of the following develops the hair in mammals ?

(A) Stratum corneuﬁa (B) Stratum granulosum

(C) Stratum conipactum (D) Stratum germinativum

138, @9 sgel UGl S @
(A) T 34 (B) s
() WweH Dy &AH
Bundle of His is found in
(A)  Kidney | (B) Brain
(©) Lung (D)  Heart
139, WIS Hisd &

(A) (B~ wWTEg
© firewd D) T
Flying fox is a |

(A)  Fox ‘ (B) Bat

(C)  Squirrel (D)  Fish
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190, e o I frass gry gear T 2

(A) et (B) AT
€ W Wy g T
Courtship in stickleback was reported by
(A)  Lorenz (B) Tinbergen
(C)  Frisch (D)  Desmod Morris
V41, S T, S wieeter v s s 3 R fe @ i R
Ay Tefeegram (B)  whiferent faeett

(C)  =Ewifvgar . (D) I ot
Which of the I'ollowmg is respons:ble for the mechamcal support protein

synthesis and enzyme transport ?°

(A)  Dictyosome ¢ B Cellmembiane
(C) Mitochond;ia : : (D)  Endoplasmic reﬁcﬂum
142, TN &
y  dAREREs | (B) ¥
()  HfermaarEe (D) W= .
Glucose is |
(A) monosaccharide (B) disaccharide
(C) o]ig;)saccharidc ' (D)  protein
143. T 6l UG % A ....o........ HT B ST ¥ |
- (A) drerfa <t (B) Ciraitaci Yy
- ;9 e ot 12 | (D) s

Which one of the following is required for the maturation of erythrocytes?

(A) thamm D (B) Vitamin A
e ——
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144, AT 3T T aered TR ©

(AY”~ - COOH qq B) -NH, Td

(© -CH, W © T B

The functional group, which is foun& in am_ino acid is

(A) - COOH group B) - NH,group

(C)  -CHj group (D)  both (A) & (B)
e e A Feoelt e 3 ferg < s e e, S S 8

(A) TR S % T (B) FEE Feh d

% ¥z % pue A (D) @ T R A

Lipid the scrvcsjas an insulator of electrical changes found

(A)  around nervous tissue (B)  in subcutaneous tissue / layer

(C) in the humps of éarnel (D)  in liver and bone
@ R I SR W gl ] W A el & S

() B) I[&H oA

Sy A (D) EHAH

Temperature changes in the environment, affect most of the animals which are

(A) Aquatic (B) Desert living

(C)  Poikilothermic (D) Homoiotherlmic
147, e e H, Wit IO €

() SR | (B) W

(©) TR (D). ATHER]

In a bictic community, the primary consumers are

(A) Carnivores . (B) Omnivores

(C)  Detritivores (D)  Herbivores
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148.

149,

150.

W—

yﬁﬂ

Tl o & N, AAETE & A FHT HE E

a) el o) w (B) T FEIRI W
(C) Ugi'& BE I(-ygqﬁﬁﬁﬂ"fl
During the rainy season, bryophytes form green mat on |
(A) D;.mp soil | (B)  Rock sides

(C)  Bark of trees (D)  All of these
it vivgam s e Freor, T FrewT o awen &

(A) = e B) fadem

(C) w@fEfa D) g

-

Biological control of agricultural pests, unlike chemical control is

(A)  Very expensive (B)  Toxic

(C) Self perpetuating (D) Polluting
f=r o fopg v 1 @Y GER & ?

(B) - fexm

() A o) FEIAWR
Which of the [ollowing an.injals is ferocious irll nature ?

(A) -Lions (B)  Deer

(C)  Fish-cating Crocodiles (D)  All of these
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- : : 150 Multiple Choice Type
I ¥ WA g5 150 9 ool v &1 | [ 1 gﬁf;lfég o
2. g e % O T & . 2. Al questions carry equal marks.
3. A IW W P THERTAS 37w Tol foar 3. There shall be no negative marks for
S| e wrong answers.
: 'H‘i-fT : ; 4. Please attempt all questions.
ERpl m% IW %l ) e o 5. Please opt for an answer which
9 313'\’ IW T T I e ™ ELTUR: appears most suitable. ‘
T 3T il 6. An OMR answer sheet will bc' gupplled
6. Ul % I 3 F fou engw S g to you separately by the Invigilator to
' 3T @ fer ST ' mark the answers. ;
OMR I | X ! . 7. All questions have four alternatives
7. Wl v A wR foer fd @ E w each, out of which only one is correct.
Ush Bt T @@l v g wel fawen & You have to choose that correct
T W & T OMR IW & § & Al alternative ~ and darkin b;hc
: 7 T Fi appropriate circle with black or blue
et St 4 ¥ 'ﬁl ball pen on the given OMR answer
IqTETY sheet.
oy For Example :
~ Question : .
. ® @ © 0O
) . ® @ © @
2 @ - ® O
b R B 2. ® ® O
8. IIH TE& | ﬁ'ﬁ ST _g- f& am 8. Strict directions are hereby given to
~ OMR FW TH | ad § fig'm W &l you to refrain from correction of your
T fer FEY T e earlier marked answer in OMR answer
% fom - & =40 4 sheet by rubbing or scratching or
7 / TR H I ! using white fluid / whitener. In case
9 feyr &l FeRe N A & A SR of violation of this instruction, your
ufomy bl T 3R b result may not be processed or you
-{jﬂ?ﬂ ¢ T may be declared disqualified in the
s v feman o w1 €1 Sinen,
9 e ¥ fafee =E ® O | |90 Roll No., Question Booklet Set Code
% HOME Sm : and Question Booklet Serial Number
=, m“i[%ﬁ;l ¥ Hg @ W-E[ﬁilﬂil should be written on the OMR Answer
@ TR WFFIG‘IE TqA-TE Sheet with the circle corresponding to
. s e . the digits be blackened with
Tty A @ fed A / F ar Blue/Black ball point pen only
; fully and correctly.
@Ee U ¥ W carefully ectly
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